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public void paint(Graphics g){ A
int i, J, cx, cy, x0, yO, px, py, w, h;
float colc;
double dx, dy;
(B&)
dx=(double)BW/ (double)NX;
dy=(double)BH/ (double)NY;
i f(kk==0) {initset(); kk++:} «— FHEARRTE
for(int iif(_); 1i<kgo;ii++){ e oL G
Sranetente OF SRYRT

drawstep(g,kk);

kk++; . B
}//next ii Em L [ZstepBE TR
kgo=0;

for(i=0; i<NX;i++){

For(3=0;j<NY;j++){

px = (int) (1*dx);

py = (Int)(*dy);

colc = 0. 7F*(L.0F-(Float) Tn[ilJD);
g-setColor(Color.getHSBColor(colc,0.9f,0.97));
g-TfillRect(px+x0, py+y0O, (int)dx, (int)dy);
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by
(B&)
}// end paint()

D045 L € paint()
double [J[] Tn, Tp;  EFEED ZRTE S|

Tn=new double[NX][NY]; RDEFZIDEE
Tp=new double[NX]INY]; TEE%I0y:a

public void initset(){
Ffor(i=0;i<NX;i++){
Ffor(J=0; j<NY;j++){
iT(i<NX/2) Tnlilli]
else Tn[i]Lj]
TpLili1 = TnLillil:
11}

nitset();
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public void sabun(int step){ ®IEEHDYTIL—FL sabun()
i=Ny-1
int i, g, i1, i2, j1, j2;
double dtx, dty, delT;
For(i=0;i<NX;i++){
for(3=0;j<NY;j++) { =0
) T I=TnLi10]; “«— RIOFZIOEREZERZY LT ™ i=Nx-1
}
For(i=0: i<NX;i++){ «—— xARIQE A LA INET
if(i==0)  i1=1; else il=i-1; " —
1T(1==NX-1) 12=i-1; else 12=i+1; } R (BT ) 52 57 SR DERE
For(=0;J<NY;j++){ «— | yARIZTFimh b LinE T
if(j==0) j1=1; else jl=j-1; ]
iIF(==NY-1) j2=j-1; else j2=j+1; } X (B8 IR F B DT
dtx = TpLillj1+TpLi2][31-2.0*TpLil[i1: T M= B RE =
dty = Tp[i]U1]+Tp[i][i2]—2-O*Tp[i][i]; Eﬂ@a‘l‘%ﬁ(ﬁﬁ%@/ﬂfi’&ﬁ’))
delT = Kap*(dtx + dty)*DeT/DeL/DeL ; T A FT A V) +T (Y + AT (Y = AY) = 4T (V)]
Tn[i103]1 = TpLil[J] + delT; DeL = Ax=Ay, DeT =At, Kap =«
1// end j '\
Y// end i - ROBZIOEREEEE

}// end sabun

TE+AD)=THX)+AT(X,Y)
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private void drawstep(Graphics g, int tt){
g.setColor(Color.white);

g.fillRect(0,50,300,25);

g.setColor(Color.black);
g.drawString("kk="+tt+" (t="+tt*DeT+")",10,70);
}

17771117177 Paint (main)
public void paint(Graphics g){

int i, j, €x, ¢y, x0, YO, px, py, w, h;
float colc;
double dx, dy;

super.paint(g);

w=getSize().width; h=getSize().height;
cx=w/2; cy=(h-120)/2;

x0=cx-BW/2; yO=cy+BH/2+60;
dx=(double)BW/(double)NX;
dy=(double)BH/(double)NY;

if(kk==0) {initset(); kk++;}

for(int ii=0;ii<kgo;ii++){
sabun(ii);
drawstep(g,kk); kk++;
H/next ii

kgo=0;

for(i=0;i<NX;i++){

for(j=0;j<NY;j++){

px = (int)(i*dx); py = (int)(j*dy);

colc = 0.7f*(1.0f-(float) Tnl[i][j]);
g.setColor(Color.getHSBColor(colc,0.9f,0.9f));
g.fillRect(x0+px, yO-py, (int)dx, (int)dy);

i

g.setColor(Color.black);
g.drawRect(x0-1,y0-BH+(int)dy-1,BW+1,BH+1);
drawstep(g,kk-1);

}// end paint()

I
I
public void initset(){
for(int i=0;i<NX;i++){
for(int j=0;j<NY;j++){

if(i<NX/2) Tnlil[j] = 0.0;
else Tnli][j] = 1.0;
Tplillj] = Tn[il[j;

3

T
T
public void sabun(int step){

int i, 01,02, 1, j2;
double dtx, dty, delT;

for(i=0;i<NX;i++){

for(j=0;j<NY;j++) {Tp[il[jI=Tn[i[jl; }
}

for(i=0;i<NX;i++){

if(i==0) i1=1; else i1=i-1;
if(i==NX-1) i2=i-1; else i2=i+1;
for(j=0;j<NY;j++){

if(j==0) j1=1; else j1=j-1;
if(j==NY-1) j2=j-1; else j2=j+1;

dtx = Tp[il][jl+Tpli2](j]-2.0*Tp[il(;
dty = Tp[il[j11+Tplil[j2]-2.0*Tplil[jl;
delT = Kap*(dtx + dty)*DeT/Del/Del;
Tn[i][j] = Tplil[j] + delT;

}//endj

Y/ endi

}// end sabun

HeatCond.java

T Madin
public static void main(String[] args)
throws Exception{

HeatCond hcrun = new HeatCond();

hcrun.setSize(600, 600);
hcrun.setBackground(Color._white);
hcrun.addWindowListener(new WindowAdapter(){
public void windowClosing(WindowEvent e){
System._exit(0);}});

hcrun.show();

}

}




